trés fragoes, ordem das operagdes

30+ 6+ =

3
8+ 8+ 2
5

N W
X
N =

~ 448+

N =

8=

Encontro: Data: Pontuagao:
3 1 3
—_— — X = =
2 4 2

I 3
—_— — X = =
3 2 5
I 1 1
—_ X = —|— —_ =
6 2 6
3 1 2
— + —_ X = =
4 6 3
I 1 1
—_ X _m— =
3 3 4
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trés fragoes, ordem das operagdes

Nome
10;1o+1—4—11
' 3 3 3
30;6+1—21—51
4 4 T4
3 8 3
§+8+Z=_=12
5 5 °5
31 1 1
— X e — - =
22 2 4
1 19 1
3 88 3 63

Encontro: Data:

X
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Il

N W
5=

W
| =
X
Wl W
Il

N —
N —
AN =
Il
A=

AW
N —
(OSHIN )
JE

www.snowmath.com

ool o

UJI»—
O] —

ol —
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